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Accenture Pseudocode Questions

S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Setb=1,a=0,c=2 b=1,a=0,c=2;
1 a=b-a-c a=b-a-c; 3
a=a-b+c a=a-b+cg;
Printa+b +c printf("%d", a + b + c);
return O;
}
#include <stdio.h>
int main() {
Integer p,q, r intp,q, r;
Setgq=5p=1r=1 q=5p=1r=1;
p=p-r p=p-r;
2 r=r-p r=r-p; 106
p=p-r P=p-0;
r=r-p r=r-p;

Print 100 + p + q + 1

printf("%d", 100 + p + q + 1);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integer a, b, c int a, b, c;
Seta=1,b=2,c=3 a=1,b=2,c=3;
3 if (b & a) && (c & a)) if (b & a) && (c & a)) { 6
a=a+(b&a) a=a+(b&a)
End if }
Printa + b + ¢ printf("%d", a + b + c);
return O;
}
#include <stdio.h>
int main() {
Integer p,q, r intp, q,r;
p=3,q=1r=1;
.Setp=3,q:1,r:1 ifq&p&rs>q{
if(Qq&p&r=>q) .
if (p > 3)p o >3
-3 p=3;
q=3 q=3;
_ r=3;
4 r=3 ) 5
Else
-1 else {
E -2 q=1
p=2;
r=4 Al
End if T
End if }

Printp+q+r

—

printf("%d", p + q + r);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=1,b=0,c=3 a=1,b=0,c=3;
If(a&1) if (@& 1){
5 a=(a&b)&(a”b)b a=(a&b)&(a”b); 3
=(a&Db)” (a”™hb) b=(a&b)” (a”b);
End if }
Printa + b + ¢ printf("%d", a + b + c);
return O;
}
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=1,b=4,c=2 a=1,b=4,c=2;
If(1&&1) if (1 &&1){
c=(a&b)+(a”b) c=(a&Db)+(a”b);
6 if (c) if (c) { 6
c=a c=a;
End if }
End if }
Printc+a+b printf("%d", c + a + b);
return 0;
}
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=2,b=4,c=3 a=2,b=4,c=3;
if (a-2 || -4 || c-3) if (a-2 || -4 ] c-3) {
b=b "c b=b "c;
7 End if } 8
if (a-1 || b-3 || c-2) if(a-1 || b-3 || c-2){
b=b &c b=b &c;
End if }

Printa +b + ¢

printf("%d", a + b + ¢);
return O;




S. No. Problem Code Solution
#include <stdio.h>
Integer ¢, n mti::lcrf(l)l;{
Setn=6
Setc=n n=6,c=n'f .
8 Print CZ// Line 4 Lmze;:p_r;:tf( %d ", c); 642
ff (cC> 0) if (c>0) {
G o to line number goto line;
4End if )
return O;
}
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a =4, b = 9? inta=4,b=09;
Integer funn (Integer a, Integer b) printf("%d", funn (a, b));
if(2a&b)&(b"a)>0) return O;
9 a=0 } 13
End if int funn (int a, int b) {

Return a +b
End function funn()

if (a&b)&((b"a)>0){
a=0;
}

return a + b;

I




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a = 99, b = 2? inta=99,b = 2;
Integer funn (Integer a, Integer b) printf("%d", funn (a, b));
Integer s return O;
Sets=2 }
a=a+s int funn (int a, int b) {
b=b+a int s = 2;
a=0 a=a+s;
10 if (a) b=b+a;a 2
return a =0;
Else if (a) {
a=a+s return a;
b=b+a }
End if else {
return a a=a+s;
End function funn() b=b + a;
}
return a;
b
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a =2, b = 5? inta=2,b=25;
Integer funn (Integer a, Integer b) printf("%d", funn (a, b));
if(a+a-b>0)b return O;
11 =2 } 7
End if int funn (int a, int b) {

return a + b
End function funn()

if(a+a-b>0){
b =2;
}

return a + b;

Y




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a =5, b = 4? inta=5,b =4;
Integer funn (Integer a, Integer b) printf("%d", funn (a, b));
a=a+b return 0O;
12 |[P=a-ba ) _ . 23
=a+b int funn (int a, int b) {
b=a-b a=a+b;
returna + b b =a-b;a
End function funn() =a+b;
b=a-b;
return a + b;
b
#include <stdio.h>
Integer a, b, c int.main() {
inta=1,b=1;
Seta=1,b=1 .
for (each c from 3 to 6) for (int ¢ = 3; ¢ <= 6; c++) {
a=a+bhb :d =a+b;
if(a<0 || b>0) :Eal<0f)llb>0){
b =10 i
13 |a=11 S 21
continue continue;
End if )
b=a b =a;
a=b a=b;
End for )

Printa + b

printf("%d", a + b);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
Integer a, b, c lnt.maln() {
inta=2,b=23;
Seta=2,b=3 f (-t 3 <=5 ++){
or (intc=3;c<=5;c
for (each c from 3 to 5) if (c>3 || b>3){
i
if (c>3]|b>3) ¢
a=a+c;
a=a+c )
14 End if 18
bri bl— 1 b=b-1;
= — 2
b=b+2 } b=b+2;
End for beb+1:
b=b+1 _'tf+"°/’d" b
+b)-
Printa + b printf("%d", a );
return O;
}
#include <stdio.h>
int main() {
int num1 = 5, num2 = 7, num3 = 6, result = 0;
if (num1 > num?2) {
Integer result and set num1 = 5, num2 = 7, num3 = 6, result = 0 i
. if (num1 > num3) {
if (num1 > num?2)
i result = num1;
if (num1 > num3)
} else {
result = num1
result = num3;
else )
15 result = num3 } else { 7

else

if (num2 > num3)
result = num2
else

result = num3
Print result

if (num2 > num3) {
result = num?2;
} else {
result = num3;
}

}
printf("%d", result);
return O;




S. No. Problem Code Solution
#include <stdio.h>
#include <stdbool.h>
bool fun(int c);
What will be the output of the following pseudocode? int .maln() { .
Integer a, b, c,d inta, b, ¢ d;
a=103,b=102,c=11,d = 10 a=103,b =102 c=11d=10;
a=a-b a=a - b;
b=(b-2)*(a&b) b_z(bg-zZ)*(l&;)).;
16 |c=(c&a)+ (b-2) _Cf‘ (E/ a_)_+0( P )i 23
if (c MOD a EQUALS 0 OR fun(c * 15)) // create function to get boolean as zi (:Cd 0+al_3? 1 fun()) {
return )
Sn‘d(i; 13 printf("%d", d);
. return 0;
Print d }
bool fun(intc) {
return c * 15;
b
#include <stdio.h>
What will be the output of the following pseudocode? mt.mam() {
Integer a, b, ¢ ik 2 b c;
Seta=0,b=1,c=2 f”‘:o;\b=1.C=2:
If(b~c || a&b || a>> 1) ‘Cf(bg cll a&b Il a>>1){
c=9 !
17 a=b+c a=b+g 20
Else } else {
c=1 c=1;
a=b+c;
a=b+c
End if )

Printa + b + ¢

printf("%d", a + b + ¢);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a =3, b = 0? inta=3,b =0;
Integer funn (Integer a, Integer b) printf("%d", funn(a, b));
if (b) return O;
18 return 1 } ' . 1
Else int funn (int a, int b) {
return funn (a+2,b+ 1)E if (b) {
nd if return 1;
End funn() } else {
return funn (a + 2, b + 1);
}
b
#include <stdio.h>
int funn (int a, int b);
int main() {
What will be the output of the following pseudocode for a = 4, b = 6? inta=4,b = 6;
Integer funn (Integer a, Integer b) printf("%d", funn(a, b));
a=za<<(a-2) return O;
19 b=b>>(b-5) } . . 21
a=a+1 int funn (int a, int b) {
b=b+1 a=ac<<(a-2);

Returna + b
End function funn()

b=b >>(b-5);
a=a+1;
b=b + 1;
return a + b;

Y




S. No. Problem Code Solution
#include <stdio.h>
int main() {
What will be the output of the following pseudocode? inta, b, c;
Integer a, b, c a=1,b=1;
Seta=1,b=1 for (intc =4; c <=7; c++) {
for (each c from 4 to 7)i if (a>c){
f(a>c) a=a-1;
a=a-1 break;
20 J ump out of the loop } else { 6
Else a=a+c;
a=a+c if (0) {
if (c) a=a+1;
a=a+1 }
End if }
End for }
Printa+ b printf("%d", a + b);
return 0;
}
#include <stdio.h>
What will be the output of the following pseudocode? mt.mam() {
Integer a, b, c 1nf i’ l:) f;2-
Seta=1,b =2 ?or (c’:l-c’<: 3; c++) {
For (each c from 1 to 3)i i . !
f(a+(b"c) i ("o
a=a+1 a=a+1;
if (c ~ 2) 1f(c’-‘2){
21 Continue continue; 8
End if }
End if }
a—a+l a=a+1;
End for J
a—a+1l a=a+1;

Printa + b

printf("%d", a + b);
return 0;




S. No. Problem Code Solution
- ; ?
:N?at will be the output of the following pseudocode? #include <stdioh>
nteger X, . .
Set f: 4 y= 7 int main() {
X=X+ Y intx, y;
y=X-;, x=4,y=7;
2 |x=x+4 XEXEYS 15, 4

. y=x-Y;
pems
B- . ,7 printf("%d, %d", x, y);
C. 1’1 4 return O;
D. None of the mentioned options J

#include <stdio.h>
int main

What will be the output of the following code? int a (2){0
Integer a, b, c a= 7' b’—’2 c=8:
Seta=7,b=2,c=8 P
if((b~a)<a&&(2"7)<c) if(ra)<ad& (27 <{

=b a=b+c;

23 ;1— *c } else { 20

se

c=(4+12)+a c=(4+12) +a;
b=11 + a;

b=11+a
End if )

Printa + b + ¢

printf("%d", a + b + ¢);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b, int ¢);
int main() {
int a, b, c;
What will be the output of the following pseudocode fora=1,b =3, c = 4? a=1,b=3,c=4;
Integer funn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, ¢));
for (each c from 5 to 8)i return O;
f(lc"b™a)<(a”d) }
24 J ump out of the int funn (int a, int b, int ¢) { 29
loop End if for (c = 5; c<=8; c++) {
a=(a+3)+a if(c*bra)<(@a”a){
b=3+c break;
End for }
returna+ b a=(a+3)+a;
b=3+c;
}
return a + b;
L
#include <stdio.h>
int main() {
Integer p,q, r intp,q, r;
Setp=7,9q=4,r=9 P=7,9q=4,r=09;
p=(+r)*q p=lp+1) g
if((p&7)+(7+9)>(p+q"1)) if(p&7)+(7+9)>(P+q"1){
25 |g=q&q a=9q&g; 34
r=r”q r=r”"gq;
p=4+r p=4+r;
End if }

Printp+q+r

printf("%d", p + q + r);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=1,b=7,c=10 a=1,b=7,¢c=10;
if (b > a) if (b >a) {
c=2&a c=2 & a;
26 End if } 15
if (@& c&b)<(c+b-a)) if (@& c&b)<(c+b-a)){
c=(a”6)"cC c=(a”"6) " c
End if }
Printa +b + ¢ printf("%d", a + b + c);
return O;
}
#include <stdio.h>
int main() {
Integera, b, c int a, b, c¢;
Seta=8b=4c=4 a=8,b=4,c=4;
for (each c from 2 to 3) for (c = 2; c <=3; c++) {
b=c+b b =c+ b;
if ((a +9) < (9 - a) if ((a+9) < (9 - ) {
27 Continue continue; 14
Else } else {
J ump out of the break;
loop End if }
b=(2+8)+a b=(2+8)+a;
End for }

Printa + b

printf("%d", a + b);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=1,b=7,c=10 a=1,b=7,¢c=10;
if (b > a) if (b >a) {
c=2&a c=2 & a;
28 End if } 15
if (@& c&b)<(c+b-a)) if (@& c&b)<(c+b-a)){
c=(a”6)"cC c=(a”"6) " c
End if }
Printa +b + ¢ printf("%d", a + b + c);
return O;
}
#include <stdio.h>
int main() {
Integer a, b, c int a, b, c¢;
Seta=3,b=2,c=4 a=3,b=2,c=4;
c=(c&3)+b c=(c&3)+b;
if (9 &a)<(c™9)) if(9&a)<(c”"9)){
c=(a+c)+b c=(a+c)+b;
Else } else {
a=3+b a=3+b;
29 a=(11+1)+c a=(11+1)+c 12

if ((c-a+b)<(b-c))
b=(7+1)+b
b=10+c

End if
b=(b”a)+b

End if
Printa +b + c

if ((c-a+b)<(b-c){
b=(7+1)+b
b=10+c

}
b=(Mb"*a)+b
}
printf("%d", a + b + ¢);
return 0;




S. No. Problem Code Solution
Integer pp, qq, rr #include <stdio.h>
Setpp=3,qq =5, r =10 int main() {
for (each rr from 4 to 5) if int pp, qq, rr;
((5 - rr+pp)>(pp +qq))] pp=3,q9=5, rr = 10;
ump out of the loop for (rr = 4; rr <= 5; rr++) {
End if if (5-rr+pp)>(pp+qq)) {
30 pp =qq + rr break; 41
qq =1r + pp }
End for pp = qq + r1;
Print pp + qq qq = rr + pp;
A41 )
B.45 printf("%d", pp + qq);
C.37 return O;
D.55 }
#include <stdio.h>
int main() {
Integer a, b, c int a, b, ¢;
Seta=2,b=5 a=2,b=>5;
c=a+b c=a+b;
31 for (each c from 1 to 2) for (c=1; c <= 2; c++) { 12
b=1+b b=1+b;
End for }
Printa +b + ¢ printf("%d", a + b + ¢);
return 0O;
}
#include <stdio.h>
int main() {
Integer pp, qq, rr int pp, qq, r1;
Setpp=4,qq=3,1r=9 pp=4,9qq9=3,rr=9;
pp=3"rr pp =3 " rT;
3 |if (PP & qq & r1) < (qq + T - pp)) if ((pp & qq & r1) < (qq + rr - pp)) { 3

pp = (11 & 10) * pp
rr= (10 + 3) & pp
End if

Print pp + qq + rr

pp = (11 & 10) » pp;

rr = (10 + 3) & pp;

}

printf("%d", pp + qq + rr);
return O;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integer pp, qq, rr int pp, qq, rr;
Setpp=1,qq=3,rr =2 pp=1,qq=3,rr=2;
if (pp & rr > pp " 1) if (pp & rr > pp " 1) {
pp =pp &rr pp = pp & 113
33 Else } else { 4
pp =pp " rr pp =pp " rr;
End if }
qq =qq & rr qq = qq & rr;
Print pp + qq + rr printf("%d", pp + qq + r1);
return O;
}
#include <stdio.h>
int main() {
Integera, b, c int a, b, c¢;
Seta=7,b=2,c=10 a=7,b=2,c=10;
for (each c from 3 to 6) for (c = 3; c <= 6; c++) {
if(6&c)<a]]("a)<oq if((6&c)<al]](b™a)<c){
34 a=a&c a=a&c; 14
End if }
a=6+c a=6+c;
End for }

Printa + b

printf("%d", a + b);
return 0;




S. No. Code Solution
#include <stdio.h>
int funn (int a, int b);
int main() {
int a, b;
What will be the output of the following pseudocode fora =2,b = 1? a=2,b=1;
Integer funn (Integer a, Integer b) printf("%d", funn(a, b));
if((5-a)>(a-b)&&b<a) return 0;
a=(a+1)+a }
35 b=b+2 int funn (inta, int b) { if ((5 - 0
b=2+a+b a)>(a-b) && b <a) {
return b - funn(b+1, b) + 1 a=(a+1)+a;
End if b=Db+2;
return a b=2+a+b;
return b - funn(b+1, b) + 1;
}
return a;
b
#include <stdio.h>
int main() {
Integer a, b, c int a, b, c;
Seta=6,b=2,c=9 a=6,b=2,c=09;
c=(c+a)+b c=(c+a)+b;
36 for (each c from 2 to 4) for (c = 2; c <= 4; c++) { 18

a=(47210) +b
End for
Printa + b

a=(4"10) + b;

}

printf("%d", a + b);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integer p,q, r intp,q, r;
Setp=1,q=4,r=6 p=1,q=4,r=6;
q=3+q q=3+q;
if ((p-r) <(r-p)) if ((p-r)<(r-p){
p=11+g¢q p=11+q;
for (each r from 4 to 8) for (r = 4; r <= 8; r++) {
q=(r+p)+p q=(r+p)+p;
Continue continue;
End for }
37 p=(11+1)+r p=(11+1)+r1; 108
Else } else {
for (each r from 3 to 6) for (r = 3; r <= 6; r++) {
p=(+p)+r p=(r+p)+r;
Continue continue;
End for }
p=(+9)+r p=(r+9)+r;
End if }
p=11+q p=11+gq;

Printp+q+r

printf("%d", p + q + r);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int funn(int a, int b, int c);
int main() {
inta=6,b=8,c=4;
What will be the output of the following pseudocode fora=6,b =8, c = 4? lr;ijtf(,,o/ Q" funcn(a b, ));
Integer funn (Integer a, Integer b, Integer c) rr')eturn 0(_) ’ e
if ((c+a+b)<(b+c) | ’
1 N N
li &E b a)) <((: +bz;)+ ) int funn(int a, int b, int ¢) {
i +a-c¢)<(6- .
c=(c&11)+a if((c+a+b)<(b+c)){
38 End if if((c*b”a)<(b+a+c)){ 8
End if if(b+a-c)<(6-b){
End if c=(c&11) + a;
a=1&c i
c=a”a }
returna +b +c
a=1&c;
c=a” a;
returna + b + c;
b
#include <stdio.h>
i .
What will be the output of the following pseudocode? y irrr:sl:(z){c-
Integer a, b, ¢ S
=1,b=2,c=9;
Seta=1,b=2,c=9 i((b+)>(cb)){
i c c-
if ((b -b
IE( :C)>(C )) c=a+a;
39 ‘];‘da_f a } 5
nd i .
if (7 + 3) < (6 + a)) if (7+3)<(6+a)){
b=12 +a b=12 + a;
End if )

Printa + b + ¢

printf("%d", a + b + ¢);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
What will be the output of the following pseudocode? mtir::tamo { .
Integer pp, qq, rr p}:;, qq, ;1- ;
= = rr = 5;
Setpp=8,qq=4,1r=5 FP ’_QZI <,_ 5 ;+
for (each rr from 4 to 5) .or (rr = 4; rr <= 5; rr++) {
if ((rr - pp + qq) < (qq + 1)) if ((rr - pp + qq) < (qq + 1)) {
40 pp = (5p+p5) ciqqq qq pp = (5 + 5) + qq; 27
End if }
pp = (rr + qq) + pp pp = (T + qq) + pp;
End for } o )
i prin od”, pp +qq);
Print +
pp = ad return 0O;
}
#include <stdio.h>
int .
What will be the output of the following pseudocode? n ilrrlltal];l(zl{r-
Integer p, q, r ,qQ, T
=0,q=8,r=10;
Setp=0,9g=8,r=10 p q r
if(p<r&& (p&q)<r) if(p<r&&(p&q)<r){
q=4&q;
q=4&q
“ p=(q+3)"r p=(q+3)"r; 36
End if )

r=(q&1)+p
a=(q"9)+p
Printp+q+r

r=(q&1)+p;
q=1(q"9)+p;
printf("%d", p + q + r);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int mai
What will be the output of the following pseudocode? m irrrlltaln() { -
Integer pp, qq, rr p}:;, a9 '2 8
pp =1,qq = 4, rr = 5;
Setpp=1,qq=2,rr =8 .
5+ 8) < (7 + ) if (5 + 8) < (7 + qa) {
if ((qq + pp) < (pp = qq)) if ((aq + pp) < (pp = qq)) {
r=(r+6)+rr rr = (rr + 6) +
rr = (qq + pp) + pp = (a9 pp) PP
: }
42 1]‘31‘nfl rl'f' + pp I'T =1IT + pp; 28
Else } else {
if ((pp + qq - 1) < (T + pp)) if ((pp + qq - 11) < (rr + pp)) {
Pp =pp *+ 1T pp = pp + 113
End if }
rr = (pp & rr) + pp rr = (pp & 17) + pP;
End if ) ntf("%d" )
. prin od", pp + qq + 1T);
Print + +rr
PP * Q9 return 0;
}
#include <stdio.h>
.
What will be the output of the following pseudocode? y ir:sl;l(zl{r_
Integer p, q, r ,qQ, T3
=3,g=1,r=1;
Setp=3,q=1,r=1 p 4 r
if (q&p &r > q) Tlq&p&r>a){
if (p > 3) >34
p=3 p=3
q=3 a=3
43 |r=3 r=3; 5
Else } else {
a=1 Az
p=2 boe
r=a r =4;
End if i
End if

Printp+q+r

printf("%d", p + q + r);

return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integer p,q, r intp,q, r;
Setp=1,q=0,r=1 p=1,q9q=0,r=1;
if(q<r+r) if(@<r+r){
if (0) if (0) {
p=1 p=1;
m End if } 5
Else } else {
if (1>0) if (1>0){
p=p-r p=p-r1;
End if }
End if }
Printp+q+r printf("%d", p + q + r);
return O;
}
#include <stdio.h>
What will be the output of the following pseudocode? mtil:sl;(zl{r-
Integer p, q, r P=6q=2r=09;
Setp=6,q=2,r=9 q=4"r;
q=4"r for(r:4,-r<:6-r++){
45 |for (each r from 4 to 6) preseeagh r;' ’ 28
q=r+r
gnd for }q=(p“q)+q'
a : (p"a)+q printf("%d", p + q);
Print p + q

return 0;




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=7,b=2,c=10 a=7,b=2,c=10;
for (each c from 3 to 6) for (c = 3; c <= 6; c++) {
if((6&c)<al](b”™a)<c) if((6&c)<a]l(™a)<c{
46 a=a&c a=a&c; 14
End if }
a=6+c a=6+c;
End for }
Printa+ b printf("%d", a + b);
return O;
}
#include <stdio.h>
int funn (int a, int b);
int main() {
int a, b;
What will be the output of the following pseudocode for a =8, b = 7? a=8b=7;
Integer funn (Integer a, Integer b) if (a-4)<(b&5) && (7 +b)< (b " printf("%d", funn (a, b));
a)) return 0;
b=a+2 }
47 b=3+1+D int funn (int a, int b) { 14
b=3+1+a if((@a-4)<(b&5)&&(7+b)<(b”a){
return funn(a, b) - b + funn(a + b, b) b=a+2;
End if b=3+1+b;
return b + 1 b=3+1+a;

return funn(a, b) - b + funn(a + b, b);

}

return b + 1;

Y




S. No. Problem Code Solution
#include <stdio.h>
int main() {
Integera, b, c int a, b, c;
Seta=7,b=2,c=10 a=7,b=2,c=10;
for (each c from 3 to 6) for (c = 3; c <= 6; c++) {
if (6 &c)>al|] (b”a)>c) if((6&c)>a]|l(™a)>c){
48 a=al|l|c a=allc; 17
End if }
a=9+c a=9+g;
End for }
Printa+ b printf("%d", a + b);
return O;
}
#include <stdio.h>
int funn (int a, int b, int ¢);
int main() {
int a, b, ¢;
What will be the output of the following pseudocode fora=1,b =6,c=5? a=1,b=6,c=25;
Integer funn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, c));
for (each c from 4 to 5) return O;
b=c+b }
if(4-c-a)<(a+b)) int funn (int a, int b, int c) {
b=(Mb+8)+b for (c =4; c <= 5; c++) {
49 b=(@”*b)+b b=c+b; 266
Else if((4-c-a)<(a+b)){

b=(c”a)+c

J ump out of the loop
End if

End for

return a + b

b=(b+8)+b;

b =(a”b)+b;

} else {

b=(c”a)+cg;
break;

}

}

return a + b;

Y




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b, int ¢);
int main() {
int a, b, c;
What will be the output of the following pseudocode fora=3,b =4, c = 4? a=3,b=4,c=4;
Integer funn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, ¢));
b=c”c return 0;
c=(12+8)+c }
if((b&a)<a&&?2=>a) int funn (int a, int b, int c) {
50 b=4+bD b=c”cg 51
b=09+3)+b c=(12 +8) +¢;
Else if(b&a)<a&&2>a){
a=3"c b=4+b;
End if b=(9+3)+b;
returna +b + ¢ } else {
a=3"cg;
}
returna + b + c;
b
#include <stdio.h>
. . int main() {
What will be the output of the following pseudocode? . o,
I;:fff hqe2 -4 P=4,q=2r=4
for (each r from 5 to 6) for'(r = 5, r <= 6; r++) {
q=(r+n)+gq
q=(r+r)+q .
51 [if((p+r-q) <(6-p) if ((p+r-q)<(6-p){ 45

p=p+tq
q=12 +r
End if
End for
Printp + q

P=pP+tq

q=12 +r1;

}

}

printf("%d", p + q);
return 0;




S. No. Problem Code Solution

#include <stdio.h>
What will be the output of the following pseudocode? 1ntir1111tam() {r-
Integer p, q, r I;. q, .3 .

= ) = ) r = ;
Setp=6,q = 3,r =9 P q
(b & 1) < (a-p)) if ((p & 1) < (a-P)) {
p=(277)+r p=Q@77)+r
%2 p=(p+3)"r p=(+3)"n 12
q=4"q q=4"gq;
End if )
r=(r+p)&q r=(r+p)&aq;
Printp +q+r printf("%d", p + q +r);
return O;

}

#include <stdio.h>

int .
What will be the output of the following pseudocode? mn ilrrxltal;(zl{r-
Integer p, q, r i

=1,q=4,r=7;
Setp=1,q=4,r=7 p 4 r
p=(1+8)+q R
r=(p&r)+r r=(p&r)+r;
53 |r=q+q A it 25
() < (- ) && 7 > p) if ((q+ 1)< (r- ) && 7 > p) {
p=r+gq;

p=r+q
p=(p+11)+q p=(p+11) +gq;
End if )

Printp+q+r

printf("%d", p + q + r);
return 0;




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b, int ¢);
int main() {
int a, b, c;
What will be the output of the following pseudocode fora=2,b =6,c=5? a=2,b=6,c=25;
Integer funn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, ¢));
if(2a&7 &Db)>(6&a)) return O;
b=(12+7)+a }
c=(12+4)+Db int funn (int a, int b, int c) {

54 End if if (A&7 &Db)>(6&a)){ 32
if((2+3)<(+b) b=(12+7) +a;
b=(b+3)+c c=(12 + 4) + b;
a=09&10)+c yif((2+3)<(5+
End if b)) {
returna +b + ¢ b=(Mb+3)+c

a=(9&10) +c;

}

returna + b + c;

b

#include <stdio.h>

int funn (int a, int b, int ¢);

int main() {

int a, b, c;

What will be the output of the following pseudocode fora=1,b =2, c=9? a=1,b=2,c=09;
Integer funn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, c));
for (each c from 5 to 9)i return O;
f((b+5)>(a-b)) }

55 a=(b+5)"a int funn (int a, int b, int c) { 40
End if for (c=5;c<=9; c++) {
b=5"c if (b+5)>(@-b)){

End for a=(b+5)"a
returna + b }

b=5"c;

}

return a + b;

Y




S. No. Problem Code Solution
#include <stdio.h>
What will be the output of the following pseudocode? 1ntir1111tam() {r-
Integer p, q, T I;' 9 '4 .
= = r=25;
Setp=8,q=4,r=5 pf ;q<, ; >
5 [if (r+a)<(a-1)I1p>aa rlr ) <ta- 0 lie>at 13
- (q&8) &r q=(q&8)&r;
End if : : " "
Printp+q+r printf("%d", p + q +r);
return O;
}
#include <stdio.h>
int mai
What will be the output of the following pseudocode? m ir:fl;%{r_
Integer p, q, T C
= = =10;
Setp=9,q=6,r=10 p 9,AqA6,r AO'
(@ p AT n Q) if((q"p ) >0 a){
_ r=(11&12) + q;
57 ;—d@: &12)+q } 25
nd i .
if ((q"6"8)>(p"4) if ((@"6"8)>(p"4){
p=(r+3)&r p=(r+3)&r
) }
End if X I
Printp +q +r printf("%d", p + q + r);
return 0;
}
#include <stdio.h>
int mai
What will be the output of the following pseudocode? m irrr:jm() { e
Integer pp, qq, rr E)I()) o = 6 rr=7;
Setpp=0,qq =6, rr =7 Ei:rr?—qp;) -
pp =T + pp ’
pp=(rr&4) " rr pp = (or & 4) * rT;
58 |if ((qq & pp & r1) < (T & qq)) if ((qq & pp & rr) < (r & qq)) { 16

if ((qq " pp) < (rr + qq)) r
r=3+1)"pp

End if

End if

Print pp + qq + rr

if ((aq » pp) < (rr + qq)) {
rr=(3+1) " pp;

}
}
printf("%d", pp + qq + rr);
return O;




S. No. Problem Code Solution
#include <stdio.h>
int funn (int a, int b, int ¢);
int main() {
X i int a, b, c;
What will be the output of the following pseudocode for a=0, b=2, c=107? a=0,b=2 c=10;
:)n:e;;e: :unn (Integer a, Integer b, Integer c) printf("%d", funn (a, b, c));
return O;
59 a=(a+c)+ab ) 59
=(b+b)rcec int funn (int a, int b, int c) {
=1+b
b=7+a;
returna + b + c
End function funn() a=(a+c)+a
b= (b +Db)+c;
c=1+b;
returna + b + c;
b
#include <stdio.h>
int main() {
Integera, b, c int a, b, ¢;
Seta=2,b=6,c=8 a=2,b=6,c=8;
a=(10+9) +c a= (10 +9) +c;
go [|fllc+b)>(a-c) if ((c+b) > (a-c)){ 41
a=b+c a=b+c;
b=b+b b=b + b;
End if }

Printa + b + ¢

printf("%d", a + b + ¢);
return 0;




